A EE R AR
fi 54 6HA30H (&) AE
1 WRRORERR 3 FEUEHORHN
X H A
% % | 3 x|l B #F EEEEREEIETE:
= = 3 4 & # 16 7 100. 0O
H K —5 —6 . E] i 6 3 37. 5
HWEE| —62. 5 —60. 0 ’% [I=2 B 3 18. 8
4 =] ik E 5 5 31. 3
o1 B & 18 & 2 -1 12. 5
A W ®B § i m O M 5 3 31. 3
= H|l®w E|&H F i JE W fir 11 4 68. 8
S &= 206 2 242 - 5’5_§ =% 7 5 43. 8
R —24 -2 —27 i BURACER
MW =E| —10. 4] —50. 0] —10. 0 % ] 2 56. 3
1 H ¥ 6. 9 8. 1 B i 10 4 62. 5
® 5] 6 3 37. 5
RS =t 3 3 18. 8
£ M % B ) I 3 3 18. 8
A EAE AR ;{E N % &
S £ 1344 16 1582 J= G
o —225 7 —227 i (16~24r%) 9 2 12. 5
BME x| —14. 3 77. 8] —12. 5 = &) A
1 H 5y 7. 4 8. 7 25 ~ 6 4% 4 2 25. 0
= # 7 43. 8
= 1T 3 5 1 31. 3
3 E] [ B
2 € -FTitoEEH Ea 5] = HL
4f 54 6A30H (&) 1w K =
A EE AR E & B ® 2= 11 7 68. 8
& [E5] 1182 24 2. 1 X [2) 1, -1
EE 111 29 35. 4 FERFA 7o 5 4 31. 3
1] i 16 7 77. 8 L # F F 1 1 6. 3
= 3 18 3 20. 0 é HHERZ A /85— 4 2 25. 0
= F 12 =1 — 70 7, & BRI A /13— 5 1 31. 3
= b5 27 11 68. 8 % TE RS A 18— 1 —1 6. 3
X H 10 1 11. 1 ML KZ A 78— 1 1 6. 3
' B 28 8| 40. 0 0 b 3 B 11 6 68. 8
% — b bR 3 1 27. 3
=l il fim & 1 =l 33. 3
5; [ & # 2 2 66. 7
55 — b 4L
=% ~V Ay MIESE
Tu7F s ¥ —IiA
4 HERE () BIFBLEKER
X5y T H ;! 3 T 7
14 & % % % i B &
EBK * ) # % R | Hawdx 1 B
& 3t 3 4] 206 2 1344 .ol —225 71 1582 —-227
(TR 63 407 3 —53 2 447 —-51
L+ 3 44 3 -6 57 1
X E 13 107 8 —-22 140 -17
E-SEpan 1 1 16 79 5. 9 —-30 87 —44
P 20 106 7. 9 11 1 127 14
RBIER 2 15 1.1 -6 -1 17 -7
oOE 10 1 71 5. 8 —-15 87 —-10
E AN i 1 2 19 1. 4 3 -1 21 5
W H 18 111 8. 3 —-33 129 —-33
% [ 22 1 151 1. 2 —-50 172 —-69
BEES 10 41 3. 1 10 1 52 12
N H 3 0. 2 -8 -1 4 -7
OB 7 49 3. 6 —14 66 —-21
¥ R 1 2 17 115 8. 6 —25 1 136 —-24
iR 3 26 1. 9 13 5 40 24
W = [Z2i04s 5 Hl] QRSEEZLTF0, QI—TDOFHTAL— KK LY. OREATHLTREERID S5, @ TFHF L THRSTHD
= KRR TS, OREIRGRRAT L,




TR A B 228 F i AR DL

e

£

£

4% 54 18 1B~ffM 5% 6A30R

X4y W o
I LA A B £ % AO1FANEY | F &

TR = F AR HOR |k F| HER B| & # R R w o |t E|E E|E Fle x
& & 1344| 100. 0] —225 16/ 100. 0 7 1582| 100. of —227| 12.73] o0.15] 14.99| 11411
W 382 28. 4 —41 3 18. 8 2 418 26. 4 —39]| 1551 o0.12| 16.97| 3098
[ (pomsitesg) 1 0. 1 —3 1 0. 1 —4 50
e sp HT 12 0. 9 -3 12 0. 8 —3| 8.83 8.83 93
Bl BT 14 1. 0 -12 18 1.1 —13| 13.21 16.98 83
| (rsitssting) 2
Eow 46 3. 4 -5 2 12. 1 60 3| 16.05] 0.70] 20.93] 279
rwih"ﬁiés'ﬁéﬁ) 2 1 1 6. 2 1 3 2 12
RX&Em 107 8. 0 —23 140 8 —18] 17.31 22.64] 756
[(Mﬂh‘éﬁiﬁ) = -1 9
Eonn 56 4. 2 —-22 63 4. 0 —30| 14.03 15.79] 364
[ (paithidern) 4
] 4k BT 1 1 16 .0 8. 67 9.25 142
7 Ji BT 0. 3 = 0. — 8.35 8.35 59
| (pamsm 13
B B ORT 2 1 -2 1 —4| 3.23 3.23 35
X iT BT 2 0.1 -3 0.1 —3| =2.68 2.68 28
| (Poiiiiepg) 1
oA 25 1. 9 1 1 6. 2 1 31 2.0 2| 11.37] o0.45] 14.10] 248
| (ramieng) 7 0. 5 7 10 0. 6 10 46
EARH 89 6. 6 18 108 6. 8 24| 18.59 22.56] 518
| (pomsieng) 1 0. 1 1 2 0. 1 2 7
RIGR™ 13 1. 0 —3 =l 15 0.9 —4| 8.92 10.29 168
| (rmsutng) 2 0.1 2 2 0. 1 2 36
K7 HET 5 0. 4 1 1 5 0. 3 7.84| 1.57] 7.84 55
[ (posieng) 1 0. 1 1 1 1 i 0. 1 1 18
& E 45 3. 3 —-10 -1 54 3. 4 —6| 13.29 15.94| 415
[ (Poitiiding) 1 0. 1 1 2 0. 1 2 31
4 L ET 2 0.1 =8 = 2 0.1 —4| 4.06 4.06 17
& Ay 5 0. 4 -1 2 12. 5 2 4 0. 3 —2| 6.36] 2.54| s5.09 46
% AT 4 0. 3 2 7 0. 4 4| 8.19 14.33 42
| (pitsiting) 1 0. 1 il 3 0. 2 3 9
=t 413 5 0. 4 3 10 0. 6 7| 7.14 14.28 48
X B A 3 0. 2 3 4 0. 3 4| 10.17 13.55 10
IR 3 0. 2 —6 4 0. 3 —5| 7.81 10. 41 24
F R A 6 0. 4 -1 7 0. 4 —3| 14.79 17.25 50
= Py AT 19 1. 4 3 -1 21 1. 3 5| 9.62 10.63] 158
i | 103 7.7 —34 1 6. 2 119 7.5 —36/| 10.41] o0.10] 12.03| 1087
| (rmiting) —1 —1 9
W BT 8 0. 6 10 0. 6 2| 6.30 7.87| 105
| (Passig) >
M om 143 10. 6 —41 25. 160 10. 1 —6 1| 11.85| 0.33] 13.26] 1225
| (g 3 0. 2 1 3| 1s. 3 4 0. 3 2 34
= )l BT 11 0. 8 -8 -1 16 1. 0 —6| 14.55 21.17| 173
®HF T 25 1. 9 7 33 2.1 14 .54 12.60 226
A & o 6 0. 4 -1 6 0. 4 —a| 475 4.75 79
iR & mr 10 0. 7 4 1 6. 2 1 13 0. 8 2| 15.54] 1.55| 20.21 44
N & ET 3 0. 2 -8 -1 4 0. 3 -7 432 5.76 59
=l 36 2. 1 —4 49 3.1 —8| 12.01 16.35 321
| (rasisg) 1
& 2 14 1. 0 -9 18 1.1 —12| 6.33 8.14 181
| (raming) 1 0. 1 1 1 0. 1 1 9
* R M 109 8. 1 —14 1 6. 2 1 132 8. 3 — 8| 13.54] 0.12| 16.40] 1047
| (g 6 0. 4 2 11 0. 7 5 61
JI| 7§ ET 12 0.9 -9 15 0. 9 —11]| 845 10.56| 128




WE E &%

RIEEHOHRFE (No. 1)
4f1 5% 1H 1H~%f 54 6H30R0 (2RT)
1 M- ERE - sl
=) L A &t # ] R £l
& # K|xE H|E E| 4 % HERL R ¥ OE ® & | #R=E | & % H oW
“w # 206 2| 242 1344 100. 0 —-225 16 100. 0 7 1582 —-227
= E 46 1 59 332 24. 7 -97 6 37. 5 3 415 -107
ﬁ 18 E 64 1 69 406 30. 2 —83 3 18. 8 472 —86
pi| ® OE & 3 5 26 1. 9 8 5[ 31.3 5 40 19
AETASE A & 93 109 580 43. 2 —53 2 12. 5 -1 655 —53
# WO 155 1| 179 1015 75. 5 —165 5 31. 3 3 1178 —-160
g e H 51 1 63 329 24. 5 —60 11 68. 8 4 404 —67
2 ERFARE - BRRI
B 183 1] 214 1043 77. 6 —-178 10 62. 5 4 1230 —-185
® 23 1 28 301 22. 4 —47 6 37. 5 3 352 —42
R OE R 127 1| 147 840 62. 5 —156 7 43. 8 5 970 -183
B ® 79 1 95 504 37. 5 —69 9 56. 3 2 612 —44
RER R 112 130 662 49, 3 —-108 2 12. 5 771 —-122
sl # 42 49 254 18. 9 —-55 -1 306 -59
— iR 24 31 163 12. 1 -7 2 12. 5 2 186 -9
B Blhazies
= ® i 46 50 245 18. 2 —46 —1 279 —54
B iz 71 1 84 381 28. 3 —-70 8 50. 0 4 459 —-63
[ =7 5 5 29 2. 2 —10 —1 34 -19
REL OB 15 1 17 178 13. 2 —-48 5 31. 3 5 199 —-61
A5 # 8 1 7 100 7. 4 —14 2 12. 5 2 113 —-20
—BEiE s 5 7 25 1. 9 28
® i< ) arit =X o
¥ oo ofh 2 3 53 3. 9 —34 3 18. 8 3 58 —41
A i 8 11 123 2 1 1 6. 3 -2 153 19
[ M b—7 6 4 -8 7 —-13
3 FEHRER
ARTEm  F 14 1 13 97 7. 2 -19 5 31. 3 1 92 -21
|| A B 8 1 7 55 4. 1 1 4] 25. 2 51 —1
BWER 179 215 1189 88. 5 —208 7 43, 8 6 1428 -210
s X Bl 37 37 129 9. 6 45 129 44
5 - oW 4 4 29 2, 2 6 31 4
# s 138 174 1031 76T —259 7 43. 8 6 1268 —-258
2 Bl B 13 1 14 58 4. 3 2 4 25. 62 4
3 E
4 FERIERI
0:00~ 2:59 2 2 16 1. 2 —4 2 12. 5 2 22 -3
3:00~ 5:59 2 2 16 1. 2 1 1 6. 3 1 16
%% 6:00~ 8:59 48 54 273 20. 3 -72 4 25. 0 3 311 -84
ai# 9:00~11:59 40 47 280 20. 8 —33 1 6. 3 1 333 —-25
R | 12:00~14:59 34 1 40 238 17. 7 —-59 4 25. 0 4 283 —-78
# | 15:00~17:59 47 56 304 22. 6 —38 1 6. 3 —4 360 —28
18:00~20:59 27 1 33 185 13. 8 —13 3 18. 8 218 -1
21:00~23:59 6 8 32 2. 4 -7 39 -8
5 FEHAZI
B B B 20 27 119 8. 9 —28 1 6. 3 157 —21
A 8 28 32 179 13. 3 —-92 2 12. 5 216 ~-83
e ok B A 41 47 228 17. 0 —-35 4 25. 0 4 262 —46
K B B 35 1 37 223 16. 6 —-18 4 25. 0 2 251 —29
B A B B 23 1 23 214 15. 9 3 2 12. 5 2 241
& B B 40 52 244 18. 2 —20 2 12. 5 287 -10
+ B B 19 24 137 10. 2 —35 1 6. 3 -1 168 —38




B EH DR (No. 1)

E E 2

(BREHE)
4 54 18 1B~%f 5% 6A30R0 (2RT)
1 #¥ - EEER - R
K5y £ $ # ] L} By
HAE % % B F| # %K AR O  OE| HmE | # B| B F O
b2 #% 47 1 53 266| 100. 0 —41 71 100. O 287 —33
= & 11 12 56 21. 1 —-19 2 28. 6 59 —20
E [ & 13 1 16 ga|l 31. 6 -5 3l a2. 9 1 94 2
a| = & @& 7 2. 6 4 1] 14. 3 1 6 3
HRTAE 7 & 23 25 119 44, 7 -21 1 14. 3 =2 128 —-18
# D 36 1 39 190 71. 4 —33 4 57. 1 2 201 —32
% FETATH 11 14 76| 28. 6 -8 3| a42. 9 =2 86 -1
2 EHBBRI - BEE]
=3 44 1 50 227 85. 3 —-32 4 57. 1 -1 247 —24
® 3 3 39 14. 7 -9 3 42. 9 1 40 -9
Rz E A 29 31 162 60. 9 —44 3 42. 9 2 172 —48
B 4 18 1 22 104 39. 1 3 4 57. 1 - 115 15
R E 28 30 147 55. 3 —-30 1 14. 3 158 —30
a5 10 11 49 18. 4 —13 -1 52 —14
— IR AT 6 7 35 13. 2 —-20 1 14. 3 1 38 —-20
B FRAES
F o0 fi 12 12 63 23. 7 3 68 4
B 4 16 1 20 80 30. 1 -2 3 42. 9 -1 89 6
= 10 3. 8 -2 -1 11 -1
REL 1 1 15 5. 6 —-14 2 28. 6 2 14 —-18
B58 #H 1 1 7 2. 6 -4 7 -5
—BHE A 4 1 5 4 5 5
® b= 370
* o f{t 4 5 —14 2 28, 2 2 —-18
-1 b2 2 2 24 9. 0 5 14. 3 — 26 9
| w -7 -4 —4
3 EERIERI
0:00~ 2:59 4 1. 5 4 1 14. 3 1 6 6
3:00~ 5:59 1 1 3 1.1 -1 3 -1
3 6:00~ 8:59 9 10 29 10. 9 —-10 1 14. 3 29 -11
% 9:00~11:59 16 18 89 33. 5 -6 1 14. 3 1 98 -3
py | 12:00~14:59 8 1 9 67 25. 2 -6 2 28. 6 2 70 -11
# | 15:00~17:59 8 10 46 17. 3 —-18 —4 55 -7
18:00~20:59 3 3 25 9. 4 -2 2 28. 6 23 -3
21:00~23:59 2 2 3 1.1 -2 3 -3
(NHB1TH)
0:00~ 2:59 2 0. 8 2 1 14. 3 1 1 1
3:00~ 5:59 1 0. 4 1
b3 6:00~ 8:59 1 1 4 I 1 -1 4 2
% 9:00~11:59 3 3 9 3, 4 =3 1] 14. 3 1 8 —4
g | 12:00~14:59 5 1. 9 5 1
# | 15:00~17:59 9 3. 4 1 -1 9 2
18:00~20:59 6 2. 3 —4 1 14. 3 -1 5 -3
21:00~23:59
4 BERHI
B R B8 3 3 24 9. 0 -11 1 14. 3 28 -8
A #& H 7 7 43 16. 2 -9 1 14. 3 49 -6
e & B B 9 10 40 15. 0 -3 1 14. 3 1 41 —4
Kk B R i 1 8 40 15. 0 -5 2 28. 6 40 —5
B A PBE B 3 4 41 15. 4 -5 44 —4
& B R 12 14 52 19. 5 2 1 14. 3 57 4
+ B H 6 7 26 9. 8 —-10 1 14. 3 -1 28 —-10




ZEBEHORHE No.2)

E #

Af1 5% 1A 1A~$Tf 54 6H30RH (&RT)
6 fHEHOFERB - KIER
X457 Ef & # B L Gl
s % % Hl B F| # % R b=l > 3 OE| WMEE | #H R g & B
#® % 206 2l 242 1344] 100. 0 —225 16| 100. 0 T 1582 —227
Rl N+ 11 11 6 2 4. 6 25 3 18. 8 3 62 20
4 R 1 1 13 1. 0 4 3 18. 8 3 10 -1
% I 5 5 22 1. 6 3 24 3
= e 5 5 28 2.1 18 28 18
i wm OB A& 19 19 53 3.9 12 53 11
o = F B 33 34 180 13. 4 7 2 12. 5 2 193 11
& wm oW E 47 1! 53 266 19. 8 —41 7 43. 8 287 —-33
T 4 4 36 2 7 -2 3 18. 8 -1 33 =t
=l 6 6 24 1. 8 —4 24 -4
B 1T & 14 1 13 100 7. 4 —23 5 31. 3 1 95 —26
g B & = as 38 134] 10.0 47 134 46
7l E = & 4 4 23 1.7 3 23 1
B f = 2 2 11 0. 8 -1 11 il
7 BE1YHEERTAAH
FEFTA 11— 40 45 291 21. 7 -72 5 31, 3 4 345 —-72
; ]z?fﬁ}:-“;.fn'u 29 33 202 15. 0 —38 1 6. 3 1 238 —41
£ | KR A= 88 1| 105 517 38. 5 -50 4 25. 0 2 627 —32
’I‘" =1 R et 60 1 72 391 29. 1 —36 5 31. 3 1 458 —45
gl |[EEFTA5— 41 50 308 22. 9 —43 1 6. 3 -1 350 —-53
L KT A R— 7 9 47 3. 5 -10 1 6. 3 1 56 —-12
8 H1YUFEOEHFRE
E &R 10 1 14 69 5.1 -17 1 6. 1 82 —31
BITES 3 4 55 4. 1 —-26 5 31 5 84 —-25
E [EEEx 2 0.1 2 3 3
%Eﬂlﬂﬁiﬁ 1 1 2 0.1 2
%ﬁ%iﬁ?ﬂﬁ% 9 9 62 4. 6 —48 74 -57
%&ﬁ%‘tﬁ% 6 62 4. 6 —8 2 12. 5 =% 60 -7
K | R ELE 25 34 175 13. 0 —-12 2 12. 5 2 201 -16
B %58 1 4 0. 3 4 6 6
BEE B
IR 6 6 96 7.1 —66 -2 119 —58
f)iﬁﬁﬁatfiﬁ 46 1 61 250 18. 6 —-19 4 25. 0 3 312 -16
i, gmﬁ%mﬁ 26 28 128 9. 5 —49 153 —40
D\ % |EaTrER 22 24 120 8. 9 11 131 17
’§ BERE 2 2 88 6. 5 —32 -1 101 —40
ZFOMOER 45 48 221 16. 4 28 2 12. 5 244 30
BITHEDOER
py [BOEEL(125) 2 8 0. 6 3 9
_|EEEE D) 2 8 0. 6 —3 1 6. 3 1 8 —
B w5 +2%) 2 0. -1
9 FRITEE
vEKTES 1 1 5 0. 4 -1 5 =T
ﬁ%ﬁa%iﬁ: 6 6 18 1. 3 5 19 5
7| |REFH 2 0.1 2 3 3
R | r7 B 1 0. 1 1 1 1
. "R S T TIA 1 1 9 0. 7 -3 10 -2
Y v 196 14. 6 —-72 -1 231 —74




fiE

E #

RBEHORER (No.3)
4f1 5% 1A 1B~%Tf 54 6HA30FH (2RT
10 7EEFE
X4 L A & # 5] #2 #t
KBAE " | E|HE F| #+ % AR O & OE| WR=E | #® B B F O
# % 206 2] 242 1344]| 100. 0| —225 16| 100. 0 7 1582 -227
AN B 14 1 13 97 7. 2 -19 5 31. 3 1 g2 —-21
T 2 0. 1 =3 2 -3
Al RIS 2 2 11 0. 8 5 11 5
g HRIE BT o 5 1 4 32 2. 4 —1 2 L2. 5 1 30 -2
| £ o fhhiEe 3 3 23 Y. 7 2 2 12. 5 1 21 1
EOMETE 4 4 29 2. 2 —-22 1 6. 3 -1 28 —22
L A E 179 215 1189 88. 5 —-208 7 43. 8 6 1428 —210
e 3 4 42 3.1 —-16 5 31. 3 4 69 —-15
= | HEe S 65 81 511 38. 0| —146 633 —-132
| LA 71 87 407 30. 3 —36 2 12. 5 2 469 —48
) T 2 2 6 0. 4 4 6 4
%ﬁ HEEFR 17 18 100 7. 4 -2 115 -2
FOMARE 21 23 123 9. 2 —-12 136 -17
A B 13 1 14 58 4. 3 2 4 25. 0 62 4
e TE - B 3 1 4 6 0. 4 3 1 6. 3 1 7 4
= iR HE 1 1 7 0. 5 1 6. 3 1 6 -2
| Eehd: 8 8 29 2. 2 1 2 12. 5 32 3
B i 4 0. 3 —3 -1 5 -2
& sl 3 0. 2 -1 3 1
FOffLbia 1 1 9 0. 7 1 9
3 =
11 YEEE7
Bt 16 1 20 115 8. 6 —-22 5 31. 3 3 156 —-18
Ry e 13 1 16 84 6. 3 -8 5 31. 3 3 108 -2
5t e
= |92 B 3 4 44 3.3 —-19 1 6. 3 1 70 -16
W OEEEE 13 1. 0 =10 1 6. 3 1 22
& 8 0. 6 —4 -1 11 -2
7 [m1 SkE 5 0. 4 -3 6 —2
Sl M -y 3 0. 2 -1 -1 5
N
Bl 3 0. 2 1 3 —1
* K FiEwE sl 0. 2 2 3 )
M EPETSS 2| 0.1 2 _p
% M ESEE 2 0. 1 1 2 1
- 2 8 1 7 56 4. 2 —34 4 25. 0 3 62 —45
e |51 YU 6 1 5 37 2. 8 —-22 2 12. 5 1 38 —28
ﬁgiﬁz%zlrﬁ 2 2 22 1. 6 —-13 2 12. 5 2 27 —18
F IR 3 0. 2 -1 3 -1
t 6 36 2. 7 5 38 2
a0 ;%1%?-]{%‘ 2 9 0. 7 —6 10 -7
= |2 YU 27 2.0 10 28 7
SR -1 -2
v Ft 2 2 14 1. 0 2 16 1
7 [®15%E 2 2 8 0. 6 —2 10 =3
T [z aws 6 0. 4 6 4
%\ mNE




